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3 The flowchart below inputs the weight of a number of parcels in kilograms. Parcels weighing more
than 25 kilograms are rejected. A value of ~1 stops the input

The following information is output: the total weight of the parcels accepted and number of parcels
rejected.

Total «
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Complete the trace table for the input data:

1.8,26.0,7.0,11.3,10.0, 2.5,25.2, 5.0, 19.8, 29.3, 1

Total Reject ouTPUT

4 Five data types and five data samples are shown below.

Draw a line to link each data type to the correct data sample.

Data type Data sample
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Section B

2 Read this section of program code that should input 30 positive numbers and then output the
largest number input.

1 Large = 9999

2 Counter

3 WHILE Counter > 30

4 DO
5 INPUT Num

6  IF Num < Large THEN Large = Num
7 Counter = Counter - 1

8 ENDWHILE

9 PRINT Large
There are four errors in this code.
Locate these errors and suggest a corrected piece of code for each error.

1

(4]
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6

3 (a) The flowchart below inputs six single digit numbers. The predefined function 10D gives the
value of the remainder, for example, ¥ — 10 }OD 3 gives the value ¥ = 1

Total « A1+ B¥2+ Cx3+ D*d + EX5

]

Check « Total MOD 11

ouTPUT
‘Accept’
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Complete a trace table for each of the two sets of input data.
Set 1 5,2,4,3,1,5
Set2  3,2,1,0,7.3

Trace table set1 5,2,4,3,1,5

A B c D E F Total | Check | Output

Trace table set2 3,2,1,0,7,3

A B c D E F Total | Check | Output

4

(b) State the purpose of the flowchart in part (a).

U]

(c) Identify a problem with this flowchart and explain how to correct it

Problem

Solution
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14

6 (a) Write an algorithm, using pseudocode or flowchart only, which:

inputs three numbers
outputs the largest of the three numbers

31

(b) Write an algorithm, using pseudocode or flowchart only, which:

« inputs 1000 numbers
outputs how many of these numbers were whole numbers (integers)
(You may use INT(x) in your answer, e.g. y = INT(3.8) gives the value
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11 An algorithm has been written to input six temperatures for every day of the year (365 days). The
outputs are:

+ the average daily temperature for each day
« the highest recorded temperature for the whole year

The algorithm is i the form of a flowchart on the next page. However, several of the statements
are missing

Using instruction number only, complete the flowchart using the following lst of instructions:

Instruction Instruction
number
1 average = total /6
2 day =day + 1
3 high = -200
4 high = temperature
5 input temperature
6 is reading <= 6 7
7 is temperature > high ?
8 output average
9 output high
10 reading = reading + 1
1" total = 0
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The algorithm is i the form of a flowchart on the next page. However, several of the statements
are missing

Using instruction number only, complete the flowchart using the following lst of instructions:

Instruction Instruction
number
1 average = total /6
2 day =day + 1
3 high = -200
4 high = temperature
5 input temperature
6 is reading <= 6 7
7 is temperature > high ?
8 output average
9 output high
10 reading = reading + 1
1" total = 0
12 total = total + temperature
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6 Tho folowing psauiocodo agorthm shoud:

+ ioput p 1020 rumbors
+ stopif the sum of the nput umbors oxcoads 50

+ ouput tho firal
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For oxample

CEElErE] [ Gl [ CEEECT

(a) Use he flowchart o encrypt th fllowing massage:
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13 Study tho olowing lowchart vory carctly.
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(@) Comploto thotraco tblofor tho flowchartusing thofolowing data:
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5 Johan wanis o wio an articlo on how Satolto Navigaion systoms (Sat Nav) uso GPS tochnology.

(@) Ho sends out a quesionnair 10 fnd ot peopie' knowkodge of how hasa systems work.
Thvee of the questons on is questionar are shown below:

e A

ol Nav accurstoly maasures vahic spoed using satalio positon
Sy e [ |
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(@) There are five amors in e above code.
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Cover page Two pages One page Continuous.
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10 (a) Tho flowchart on tho naxt pago shows how barcodos aro usod in a supormarkot 10 fnd
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14 Study tho olowing flowchart vory carctly.
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2 Read this section of program code that should input 50 numbers and then output the average of
the positive numbers only.

3 FOR Coun 1
4 INPUT Num
s IF Num < 0 THEN Total = Total + Num

IF Num > 0 THEN Coun

NEXT

nte

9 ERINT Num

There are four errors in this code.
Locate these errors and suggest code corrections to remove each efror.

1

(4]
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This pseudocode inputs an integer. The predefined function DIV gives the value of the
division, e.g. ¥ ¢= 10 DIV 2 gives the value ¥ = 3. The predefined function 100 gives the
value of the remainder, e.g. v €= 10 moD 3 gives the value v = 1.

E

=NDWHILE
E X O
10:
11

TEUT X
=NDeasE
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9
Complete a trace table for each of the two input values 37 and 191

Trace table for input value 37

X ™ T2 ouTPUT

Trace table for input value 191

3 ™ T2 ouTPUT

4

(b) State the purpose of the pseudocode in part (a).

[2]
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Section B

2 Read this section of program code that should input 10 positive numbers and then output the
smallest number input.

1 small = 0

2 Counter = 0

3 REPEAT
4 INPUT Num

5  IF Num < Small THEN Num = Small
6  Counter = Counter + 1

7 PRINT Small

8 UNTIL Counter < 10
There are four errors in this code.
Locate these errors and suggest a corrected piece of code for each error.

1

4





